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1.

fy=forRed Uve d@i ¥ dE-A1 Wdle

T H ARG U A 7 2
(A) N

B|) P

©€) K

(D) Zn

e & w8
TN % |

(A) N 3R zn®

(B) B3R S@

(C) Cu 3R cadl

(D) Fe 3R Mn@!

7T a1g H CO, IRl el &
(A) 0.25%

(B) 20.6%

(C) 79.2%

(D) 21.2%

T T T FU1 T Bl ©

(A) 163 1.8 M /34’
(B) 260 ¥ 2.75 UM /¥
(C) 12 25 JM /39’

(D) SWad # | BIS T

Ag-1003

(3)

Which of the following plant nutrients

rich in alluvial soil ?

(A) N
(B) P
C) K
(D) Zn

Indian soils are deficientin .............. )

(A) NandZn
(B) BandS
(C) CuandCa

(D) Feand Mn

CO, contain in soil air :

(A) 0.25%
(B) 20.6%
(C) 79.2%

(D) 21.2%

Average particle density of soil is :
(A) 1.6-1.8 glcm®

(B) 2.60-2.75g/cm®

(C) 1.2-2.5g/ecm’

(D) None of the above

Set-D



Frfeiad # ve wert drer gRier @l
g

(A) BaferEe

(B) HrAIReEe

(C) 3emge

(D) WINEE

frforRad o & gomge &1 AxaT 93 ¢

(A) Al Sig O (OH)s
(B) Al Si; Oy (OH), K
(C) Al Sis O (OH)s

(D) STda # & Big AL
W 7o uRfl S g
(A) ST U< H

(B) foER 4

(C) uf¥m §ret H

(D) Suga Wl
frefoRed § | SF-91 & §aT W@
T YPR Tel & ?

(A) wel

(B) WM

(C) il

(D) G

Ag-1003

(4)

Which of the following is an expanding
type of clay mineral ?

(A) Kaolinite

(B) Mantmorillonite

(C) lllite

(D) Chlorite

Which of the following is structural

formula of Illite ?

(A) Aly Sig Oy (OH),4
(B) Al Sis Oy (OH), K
(C) AlySis Oy (OH)g
(D) None of the above

Terai soils are found in :
(A) Uttar Pradesh

(B) Bihar

(C) West Bengal

(D) All of the above

Which of the following not a type of soil

structure ?

(A) Platy

(B) Prismatic
(C) Blocky

(D) Loamy

Set-D



10.

11.

12.

ffeliRad o | DI F99 31l uTaehTe
qTell 7T ARET © 7

(A) HHI

(B) Wil

(C) TSR

(D) il
ffoRed sl § ¥ a1 AU 3 R
Y RTAER @

() fafe

(B) arsIehRo

(C) duf

(D) Suda Wl

I 73T B fIRre S Bl §

(A) 02 DA /T

(B) 2 daRl /I

(C) 1 daRl /I

(D) 25 Hart/TM

9T 3 H BT YR BT B

(A) THE qUHA

(B) I BT EedlUd Td TERIU
(C) I T gt
(D) ST W
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(5)

10.

11.

12.

Which of the following is a more porus

soil structure ?

(A)
(B)
(©)
(D)

Crumby
Platy
Granular

Blocky

Which of the following factors is

responsible for losses of soil heat ?

(A) Radiation
(B)
(®)

(D)

Evaporation
Precipitation

All of the above

Specific heat of dry soil is :
(A)
(B)
©)
(D)

0.2 cal/g
2 callg
1 cal/g

2.5 callg

In soil colour ‘Chroma’ represents

as:

(A)

Dominant spectral colour

(B)

Lightness and Darkness of colour
(®

Purity of colour

(D) All of the above
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13.

14.

15.

GR’ YT BT @ - 13.

(A) FHAl T W FT BT 3G q619

(B) MM TR W ST & ¥d 391d

(C) drgAvSA ¥ THI Bl A <a1d

(D) i AUHH

frifehd Suexol § Ud g1 T A @1 14,

RERE

(A) <RrRIMRR
(B) SRR
(C) oMM
(D) U-Ug Hiex

[l T BT WA °d 152 I/ 15,

Td B GG 2,63 UH/IW] B, O S9
T B YT B

(A)  43.40%
(B) 41.98%
(C) 50.01%

(D) 43.00%

Ag-1003 (6)

‘Bar’ represents as :

(A) Average air pressure at sea level

(B) Average water pressure at ground

level
(C) Average moisture pressure in
atmosphere

(D) Average temperature

Which of the following instruments is

used for measurement of soil moisture ?
(A) Tensiometer
(B) Barrometer

(C) Thermometer

(D) pH meter

A soil having bulk density 1.52 g/cm® and
particle density 2.63 g/cm®, the porosity

of the soil is :

(A) 43.40%
(B) 41.98%
(C) 50.01%

(D) 43.00%

Set-D



16.

17.

18.

19.

W& ATl B gl (orEH D1 Yol b
A0S T SRAleR 1T DI ST AH
faBRT €T €, 39 YBR B FaT TR
CARTIER I

(A) g

(B) ol

(© wd

(D) TTBR

eI AT UHI febar ST &
(A) T ST A

(B) wRe®d el #

(C) dhSl B 9 H

(D) o & 9ol A

a1 IO B IR ¢ -

(A) 3

(B) 4

) 2

(D) SWad # | BIg T2

a1 AT B BT U SRS o :
(A) ¥ aul

(B) dRIPB AT HT WA

(C) 3l U uard

(D) AIfSIH FEC
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(7)

16.

17.

18.

19.

Soil structure unit having horizontal axis
much larger than vertical axis. Such type

of soil structure is known as :

(A) Prismatic
(B)
(©)

(D)

Blocky
Platy

Spherical

Soil samples are collected in :
(A)
(B)
(©)
(D)

Gunny bags
Plastic bags
Wooden box

Metal containers

Types of soil survey are :
(A) 3
(B) 4
©C 2

(D) None of the above

Soils are acidic for one of the reason :

(A) Low rainfall
(B)
©)

(D)

Basic slag use
Acid parent material

Sodium carbonate

Set-D



20.

21.

22.

Aed UI-Ud. arell Jarell H AHRIG: BHl
EIRIRSIGI RS

(A) Cu 3R Mo

(B) Zn 3R Mn

(C) B 3R Fe

(D) Ca 3R Mg

ge1 # P gerl offfe B W
AT & H T -

(A) Ui T

(B) Bl X

(C) BT T AT Blell T

(D) olTel NI

R & HUI BT AR BT ¢
(A) 0002 4. &1 FH

(B) 0002 ffl. 1 ot

(C) 1.00-2.00 fAH!.

(D) 0.25-050 fAH!.

Ag-1003

(8)

20.

21.

22.

High pH soils are generally deficient in :
(A) Cuand Mo
(B) Znand Mn
(C) BandFe

(D) Caand Mg

Soil

organic

containing high proportion of

matter have the following

colour :

(A) Yellow Colour
(B) Light Colour
Dark Brown or Black Colour

(©)

(D) Red Colour

The particle size of ‘clay’ is :

(A) <0.002m

(B) >0.002m

(C) 1.00-2.00 mm

(D) 0.25-0.50 mm

Set-D



23. TR YR A &= B U YR 23.

(A) Tt T
(B) rell T
(C) Vel a1
(D) Wl a1

24, fefafeg et d§ oEfNe w24

U AT ARG BT TR YT "IN o
T

(A) ST T

(B) Rufd®H

(C) 3rBUTad oIl

(D) ANTIvS

25. WRA @I GErRll H AHRIGA Bl e 25,

URIT STl ©

(A) 0.5-1.0%
(B) 0.5% ¥ HH
(C) 1.5-2%

(D) 1-5%

Ag-1003 (9)

What is the major soil in the North Indian

plains ?

(A) Red soil

(B) Black soil

(C) Alluvial soil

(D) Mountain soil

Which of the following states has been

declared as India’s first state to have

adopted organic forming ?

(A) Uttar Pradesh

(B)  Sikkim

(C) Arunachal Pradesh

(D) Nagaland

Organic matter content of Indian soil

generally :

(A) 0.5-1.0%

(B) <0.5%

C) 1.5-2%

(D) 1-5%

Set-D



26. BEHD Ut = JAFd BET x 1.724 Bl 26. Organic matter = organic carbon x 1.724

FEY T is called as :

(A) eI Hhaex (A) Bemlen factor
(B) U-T™ ey (B) pH factor

(C) ST Ul (C) N-Calculator
(D) Sugad Fl (D) All of the above

27. FHfaRed woaal § SUgFE U-wE @ 27. Which of the following crops is not

. matched in suitable pH ?
&HQQ’\’@@‘EI?'IG:!@%\*: P
(A) HUHT—58-8.0 (A) Cotton—5.8-8.0
(B) Wice §H—5-5.7 (B) Field been—5-5.7
(C) WE—5-77 (C) Oats—5-7.7
(D) 3Mlc]—4.5-65 (D) Potato—4.5-6.5

28. 3BT Bl @ 3edd fde™ & fou  28. Most of the crops require .................. pH

s G VST Y ATITIHAT I 3 range for optimum growth.
(A) 4-6 (A) 4-6
B) 59 (B) 5-9
(C) 6.5-7.00 (C) 6.5-7.00
(D) 5.0-85 (D) 5.0-85

Ag-1003 (10) Set-D



29. YdIgc JhR Bl dccl 2 29. Granite is a type of rocks :

(A) 3 (A) Igneous

(B) 3rawTal (B) Sedimentary
(C) BRIART (C) Metamophic
(D) SW@ ¥ ¥ FI5 T (D) None of the above

30. Hdl Dl TI%‘\’IT;? aaﬁ W ¥l g7 &R BT 30. When increase the depth of soil bulk

density rate is :

N

(A) el 8 (A) Increased

(B) Hedl® (B) Decreased

(C) ®IS YT 78! el (C) No effect

(D) (A) 3R (B) Tl (D) Both (A)and (B)

31. ¥aT Bl 1 BeBl &l YeRid #Rd & : 31. Soil colloidal particles show the

phenomenon :
(A) T (A) Plasticity
(B) 3G U4 HEGI (B) Adhesion and Cohesion
(C) A (C) Flocculation
(D) SUgad JHI (D) All of the above
32. HIZHT (314D) GHR BT i 32. Micaistype of ............... clay mineral.
Gl @ |
(A) 1:1 (A) 1:1
(B) 2:1 (B) 2:1
€ 2:1:1 (C) 2:1:1
(D) SUYa H A Bl 7l (D) None of the above

Ag-1003 (11) Set-D



33. fy=fiRea gt @il § @4 gggom 33, Which of following clay minerals bounds

99 ¥ 99 B © ° in Hydrogen bond ?
(A) fsarge (A) Beidelite
(B) dHigeTEe (B) Vermiculite
(C) HATreAIRAIMTSE (C) Mantmorillonite
(D) HAferTEE (D) Kaolinite
34, HaT ¥ ol X7 Bl @ 34.  Red colour of soil is due to :
(A) THTZC B HRY (A) Heamatite
(B) TNAEE & BRI (B) Geothite
(C) TBIMIEE & BRI (C) Gluconite
(D) #fHEE & BRY (D) Maghemite

35, fdgq @I ﬂﬂaﬁ T Bl foraq 7T ] IR 35. Total soil orders found in world soil :
W 2

(A) 10 (A) 10

(B) 11 (B) 11

(C) 12 (C) 12

(D) 8 (D) 8

36. Wﬂﬂﬂﬁﬂg?ﬁwméz 36. Khader soil is also known as :

(A) & e (A) Clayey

(B) @ qMe (B) Clay loam

(C) @b (C) Gravely

(D) 9 IMC (D) Sandy loam

Ag-1003 (12) Set-D



37. SR YW H BN-U AT A¥GH &b 37

ERDIRCIGI

38. @il gelll # WR IM & foR d-Ar 38,

AR Wi RrmiEr 2 2

39. fdgd @raram &1 A9 H THR WE 39

(A) ds/m
(B) ws/cm
(C) mg/m

(D) (A) 3R (B) &I

Ag-1003 (13)

Which soil cover is in maximum area in

Uttar Pradesh ?

(A) Alluvial soil

(B) Red soil

(C) Laterite soil

(D) Mountain soil

Which clay mineral is responsible for

cracking in black soil ?

(A) Kaolinite

(B) Mantmorillonite

(C) Vermiculite

(D) Ilite

Unit used for measurement of electrical

conductivity :

(A) ds/m
(B) ws/cm
(C) mg/m

(D) Both (A) and (B)

Set-D



40. ﬁgﬁ ATefhdT HIe} HYdl © : 40. EC meter measures :

(A) HaT ¥ qol oqu (A) Total salt in soil
(B) &I H Yelieied ofaul (B) Soluble salt in soil
(©) (A) 3R (B) S (C) Both (A) and (B)
(D) SUYa H H Bl el (D) None of the above

41. O &I HIGHR TP " 45% W A0F 41. If the soil textural class has clay content

R T I - more than 45%, then it will be known
I & -

(A) JUSI T (A) Sandy clay

(B) R ®t M (B) Silty clay loam

(C) TS T AW (C) Sandy clay loam

(D) (D) Clay

42. 1.S.S.S. & AR ] $ FEH B B 42. What is the size of fine sand particles

T 3PN Blar & 7 accordingto 1. S. S. S.?

(A) 2.0-0.2 T (A) 2.0-0.2mm
(B) 20-20 A (B) 20-2.0 mm
(C) 025-0.10 fAH!. (C) 0.25-0.10 mm
(D) 0.2-0.02 A (D) 0.2-0.02 mm

Ag-1003 (14) Set-D



43.

44,

45.

46.

Ag-1003

fy=foRad § 9 WRemIs o ®

(A) Mg
(B) N
© O
(D) K

AIeH 91 BT @ -

(A) A+B+C &R @l

(B) A+B H&RN &I

(C) B+C G&N @l

(D) ST W

frefoRed gael 4 9§ fedel S
iR ear afere 2l §

(A) T T

(B) T a1q

(C) R HaI

[

(D) T el

fefead 3§ 9 U6 ga1 R $Re
Tl ©

(A) SieTdTy

(B) e

(C) I

(D) <4

(15)

43.

44,

45.

46.

Which of the following is a structural
element ?

(A) Mg

(B) N

€ O

(D) K

Solum is made up of :
(A) A+B+Chorizons
(B) A+ B horizon

(C) B+ C horizon

(D) All of the above

Which of the following soils has high
buffering capacity ?

(A) Sandy soil

(B) Loamy sand

(C) Clay soil

(D) Loamy soil

Which of the following is not a soil

forming factor ?

(A) Climate
(B) Relief
(C) Moisture

(D) Organisms

Set-D



48.

49,

Ag-1003

(A) |IGA W R fog

(B) &% &l | AN [0

(C) Had & &war
(D) &3 & A e fag

GAferTge JiidT @t 991 8 2
(A) 2 TR Si+ 1 I Al @I

(B) 2 WA Si+ 1 Wd Al + 1 TRd Mg

T

(C) 1 WRd Si+ 1 W Al
(D) SWa ¥ ¥ I3 T

forst a1 # 9 A STIUReT BT 8 ?
(A) et 3T

(B) Sclg 7T
(C) el HaT

(D) STl HaT

(16)

47.

48.

49.

Available water is held between ............ .

(A) Saturation to wilting point

(B) Field capacity to hygroscopic

coefficient

(C) Field capacity only

(D) Field capacity to wilting point

Kaolinite clay mineral is made up of :

(A) 2 Sheet Si + 1 Sheet Al

(B) 2 Sheet Si + 1 Sheet Al + 1 Sheet Mg

(C) 1 Sheet Si+ 1 Sheet Al

(D) None of the above

Bed rock is absent in which soil ?

(A) Red soil

(B) Alluvial soil

(C) Black soil

(D) Forest soil

Set-D



50. fyeifdd # W Ue 7aT Ffewor @ @1 50. Which of the following is a lower

T B 5cb|s( 3. category of soil classification ?
(A) Hal gyofy (A) Soil series

(B) oo (B) Family

(C) Hqa1 v (C) Soil order

(D) S (D) Suborder

51. 9= dcal @1 Prel Ll ¥ ) ) 51. Which nutrients are found in deficient is

—— black soil ?
(A) T (A) Lime
(B) U (B) K (Potash)
(C) e (C) Fe(Iron)
(D) TASH (D) N (Nitrogen)

52. I el faeH & O ¢ 52.  Father of Modern Soil Science is :
(A) TH. Ud. &7 (A) M. L. Troung
(B) . d1. ofifeT (B) J.V. Liebig
(C) . 1. S (C) V. Vasily Dukuchaeva
(D) TP (D) Buckman

Ag-1003 (17) Set-D



53. @ MG & TP ¢ : 53. Father of Agricultural Chemistry is :

(A) feerms (A) Hilgard
(B) BT (B) Buckman
(C) . dn. oifeT (C) J.V. Liebig
(D) 3R 3R wee (D) Arnon and Stout
54. eI ol A B AR YaT § TS - 54.  According to Pedology soil is a/an :
(A) a3 fivs (A) Mix body
(B) &M five (B) Artificial body
() vfds fivs (C) Biological body
(D) Wi fivs (D) Natural body
55. YAl &I I&Y dIc Bl $Hal Ol o - 55.  Vertical section of soil is called as :
(A) e (A) Solum
(B) Rmferer (B) Regolith
(C) Hdg! gar (C) Surface soil
(D) ¥aT uRzfaa (D) Soil profile
56. = H ¥ U& HaT FT G99 T © 56. Which of the following not a component
of soil ?
(A) TG g (A) Organic matter
(B) Wt uered (B) Mineral matter
(C) vl (C) Water
(D) Sictdrg (D) Climate

Ag-1003 (18) Set-D



57. 9al gRsfehT § el & 98l HH € : 57. In soil profile correct pattern of horizons

is:

(A) A B,CR,O0 (A) A B,C,R,0
(B) O, A B,EC,R (B) O, A B,EC,R
(C) O,A B,R,CE (C) O,A B,R,CE
(D) O,AEB,C,R (D) O,AEB,CR
58. ‘A’ R I AU ISR % : 58. ‘A’ horizon is mostly found in :
(A) el gaT | (A) Surface soil
(B) 3rEiqae! #al A (B) Subsurface soil
(C) (A) ¥R (B) T (C) Both (A) and (B)
(D) I H ¥ BIg el (D) None of the above

59. Hal # 3iryd fRiferatd @1 vfera & @ 59.  Average content of silicon in soil :

(A) 24% (A) 24%
(B) 27% (B) 27%
(C) 31% (C) 31%
(D) 35% (D) 35%

60. UIEdiaRU Uihar H HaT H WG @ 60. In lateralization process accumulation in

g soil is of :

(A)  Tiferer o1 (A) Silica

(B) Dfcd FrEMT I (B) CaCOs

(C) Dfewyd Tehe & (C) CaSO,

(D) 3MRT Ud U & sifaased (D) Fe and aluminium oxides
Gl

Ag-1003 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & ¢
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @18 A WG B, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e H dN-ga, deldeicy, Yok a2l Heger
B of ST T SHBT START BRAT i ¢ |

12. 9 & B U9 IS WURRY § A=ar 89 &
I H YT BT U WURYT & AR B |
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